## Mathematica Bohemica

## G. Apreutesei; N. Apreutesei

Second order difference inclusions of monotone type

Mathematica Bohemica, Vol. 137 (2012), No. 2, 123-130

Persistent URL: http://dml.cz/dmlcz/142858

## Terms of use:

© Institute of Mathematics AS CR, 2012

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://dml.cz

# SECOND ORDER DIFFERENCE INCLUSIONS OF MONOTONE TYPE 

G. Apreutesei, N. Apreutesei, Iaşi

(Received October 15, 2009)

Abstract. The existence of anti-periodic solutions is studied for a second order difference inclusion associated with a maximal monotone operator in Hilbert spaces. It is the discrete analogue of a well-studied class of differential equations.

Keywords: anti-periodic solution, maximal monotone operator, Yosida approximation MSC 2010: 39A12, 34G25, 47H05

## 1. Introduction

We are concerned with the second order difference inclusion

$$
\left\{\begin{array}{l}
u_{i+1}-\left(1+\theta_{i}\right) u_{i}+\theta_{i} u_{i-1} \in c_{i} A u_{i}+f_{i}, \quad 1 \leqslant i \leqslant N  \tag{1.1}\\
u_{0}=-u_{N+1}, u_{1}-u_{0}=-a_{N}\left(u_{N+1}-u_{N}\right),
\end{array}\right.
$$

where $A$ is a nonlinear (possibly multivalued) maximal monotone operator in a real Hilbert space $H, \theta_{i}, c_{i}>0$ and $f_{i} \in H(1 \leqslant i \leqslant N)$ are given finite sequences, and $a_{N}=1 / \theta_{1} \theta_{2} \ldots \theta_{N}$. Denote by $D(A)$ the domain of $A$.

The inclusion from (1.1) is the discrete variant of the continuous differential inclusion $p u^{\prime \prime}+r u^{\prime} \in A u+f$ a.e. on $[0, T]$ that has been intensely studied. See for example the papers [9], [1] and the monograph [8]. Anti-periodic solutions for such a class of differential equations were investigated in [2], [4], while the discrete analogue for $p \equiv 1, r \equiv 0$ was treated in [5]. In this case $\theta_{i} \equiv 1$. In [10], the authors study the asymptotic behavior of the bounded solution for the second order on half-axis. Existence and asymptotic behavior results for equation (1.1) for $i \geqslant 1$ and various boundary conditions have been obtained in [7]. For finite sets of $i(1 \leqslant i \leqslant N)$, in [6]
the authors analyzed the continuous dependence of the solution on the operator $A$, the sequence $f_{i}$ and the boundary conditions $u_{0}=a, u_{N+1}=b$.

The structure of the paper is the following. In the next section we find some auxiliary results related to the maximal monotonicity of the operator

$$
\begin{equation*}
\mathcal{B} u=\left\{\left(-u_{i+1}+\left(1+\theta_{i}\right) u_{i}-\theta_{i} u_{i-1}\right)_{1 \leqslant i \leqslant N}\right\} \tag{1.2}
\end{equation*}
$$

with the domain

$$
\begin{equation*}
D(\mathcal{B})=\left\{u=\left(u_{i}\right)_{1 \leqslant i \leqslant N}, u_{0}=-u_{N+1}, u_{1}-u_{0}=-a_{N}\left(u_{N+1}-u_{N}\right)\right\} . \tag{1.3}
\end{equation*}
$$

Denoting by $\mathcal{A}$ the operator

$$
\begin{equation*}
\mathcal{A} u=\left\{\left(c_{1} v_{1}, \ldots, c_{N} v_{N}\right), v_{i} \in A u_{i}, 1 \leqslant i \leqslant N\right\}, D(\mathcal{A})=D(A)^{N} \tag{1.4}
\end{equation*}
$$

problem (1.1) can be written as $-f \in(\mathcal{A}+\mathcal{B})(u), f=\left(f_{1}, \ldots, f_{N}\right)$.
Section 3 is devoted to the existence of the solution of the boundary value problem (1.1). The main result of the paper is established here and an application to PDE is presented.

Recall that if $A$ is maximal monotone and if $J_{\lambda}=(I+\lambda A)^{-1}, A_{\lambda}=\left(I-J_{\lambda}\right) / \lambda$ are its resolvent and its Yosida approximation, respectively, then $x=J_{\lambda} x+\lambda A_{\lambda} x, A_{\lambda} x \in$ $A\left(J_{\lambda} x\right)$. Properties of maximal monotone operators can be found in [8].

In [3], [11] the authors studied second-order boundary value problems for discrete inclusions and applied the fixed-point techniques and a priori bound methods to obtain the existence of solutions. However, in these papers the boundary conditions are of Dirichlet type and so do not apply directly to the problem herein.

## 2. Auxiliary results

Note that, if $A$ is maximal monotone in $H$, then $\mathcal{A}$ from (1.4) is maximal monotone in $H^{N}=H \times \ldots \times H$ ( $N$ times). We study now the maximal monotonicity of $\mathcal{B}$ in the Hilbert space $H^{N}$ endowed with the scalar product

$$
\begin{equation*}
\left\langle\left(u_{i}\right)_{1 \leqslant i \leqslant N},\left(v_{i}\right)_{1 \leqslant i \leqslant N}\right\rangle=\sum_{i=1}^{N} a_{i}\left(u_{i}, v_{i}\right) . \tag{2.1}
\end{equation*}
$$

Here $(\cdot, \cdot)$ is the scalar product in $H$ and $a_{i}$ is given by

$$
\begin{equation*}
a_{0}=1, \quad a_{i}=\frac{1}{\theta_{1} \ldots \theta_{i}}, \quad 1 \leqslant i \leqslant N . \tag{2.2}
\end{equation*}
$$

Observe that

$$
\begin{equation*}
a_{i} \theta_{i}=a_{i-1}, \quad 1 \leqslant i \leqslant N+1 \tag{2.3}
\end{equation*}
$$

This Hilbert space is equivalent to $H^{N}$ endowed with the scalar product $\left\langle\left(u_{i}\right)_{1 \leqslant i \leqslant N}\right.$, $\left.\left(v_{i}\right)_{1 \leqslant i \leqslant N}\right\rangle=\sum_{i=1}^{N}\left(u_{i}, v_{i}\right)$. The only difference between the two Hilbert spaces is that the operator $\mathcal{B}$ introduced in (1.2)-(1.3) is monotone only in $H^{N}$ with the scalar product (2.1). To show this, we begin with the existence results for the auxiliary boundary value problems, with $c, d \in \mathbb{R}$ given:

$$
\begin{gather*}
l_{i+1}-\left(2+\theta_{i}\right) l_{i}+\theta_{i} l_{i-1}=0, \quad 1 \leqslant i \leqslant N,  \tag{2.4}\\
l_{0}=c, \quad l_{N+1}=-c, \\
m_{i+1}-\left(2+\theta_{i}\right) m_{i}+\theta_{i} m_{i-1}=0, \quad 1 \leqslant i \leqslant N,  \tag{2.5}\\
m_{1}-m_{0}=a_{N} d, \quad m_{N+1}-m_{N}=-d .
\end{gather*}
$$

Lemma 2.1. If $c \in \mathbb{R}$ and $c_{i}, \theta_{i}>0,1 \leqslant i \leqslant N$, problem (2.4) has a unique solution $l=\left(l_{i}\right)_{1 \leqslant i \leqslant N} \in \mathbb{R}^{N}$. Moreover, we can choose $c$ such that $l_{1}-l_{0}+$ $a_{N}\left(l_{N+1}-l_{N}\right) \neq 0$.

Proof. Problem (2.4) has the form (6.1.13) from [8], page 143. Applying Theorem 6.1.2 in [8], one deduces that (2.4) admits a unique solution $l=\left(l_{i}\right)_{1 \leqslant i \leqslant N} \in$ $\mathbb{R}^{N}$. Let $l_{0}=c$ and $l_{1} \in \mathbb{R}$ be fixed. Then we can compute $l_{2}, l_{3}, \ldots, l_{N+1}$ in terms of $l_{1}$. By the boundary condition $l_{N+1}=-c$, we find $l_{1}=c\left[2 \theta_{1}\left(2+\theta_{2}\right)-1\right] /\left(8+4 \theta_{1}+\right.$ $\left.2 \theta_{2}+2 \theta_{1} \theta_{2}\right)$. Then we can choose $c$ such that the condition $l_{1}-l_{0}+a_{N}\left(l_{N+1}-l_{N}\right) \neq 0$ is satisfied.

Lemma 2.2. Let $d<0$ be given and let $c_{i}, \theta_{i}>0,1 \leqslant i \leqslant N$. Then problem (2.5) admits a unique solution $m=\left(m_{i}\right)_{1 \leqslant i \leqslant N} \in \mathbb{R}^{N}$. In addition, we can choose $d<0$ such that $m_{0}+m_{N+1} \neq 0$.

Proof. Let $m_{0} \in \mathbb{R}$ be arbitrary fixed. Then $m_{1}=m_{0}+a_{N} d$ and from (2.5) we infer that $m_{i}=\alpha_{i} m_{0}+\beta_{i}, 1 \leqslant i \leqslant N$, with $\alpha_{i}>0, \beta_{i}>0, \alpha_{i+1}-\alpha_{i}>0$ and $\beta_{i}-\beta_{i+1}-d>0$ (if $d<0$ ) for $1 \leqslant i \leqslant N$. By the boundary condition $m_{N+1}-m_{N}=-d$, one obtains $m_{0}=\left(\beta_{N}-\beta_{N+1}-d\right) /\left(\alpha_{N+1}-\alpha_{N}\right)$. This $m_{0}$ exists and is positive. In addition, we can easily find that

$$
m_{0}+m_{N+1}=\frac{\left(\beta_{N}-\beta_{N+1}-d\right)-d \alpha_{N+1}+\alpha_{N+1} \beta_{N}-\beta_{N+1} \alpha_{N}}{\alpha_{N+1}-\alpha_{N}}>0,
$$

because $\alpha_{N+1}-\alpha_{N}>0, \beta_{N}-\beta_{N+1}-d>0$ and $\alpha_{N+1} \beta_{N}-\beta_{N+1} \alpha_{N}=$ $-\theta_{1} \theta_{2} \ldots \theta_{N} a_{N} d=-d>0$. The lemma is proved.

Now we can prove the maximal monotonicity of the operator $\mathcal{B}$ from (1.2) - (1.3).

Proposition 2.3. The operator $\mathcal{B}$ defined in (1.2)-(1.3) is maximal monotone in the weighted Hilbert space $H^{N}$ with the scalar product (2.1).

Proof. To prove that $\mathcal{B}$ is monotone with respect to the scalar product (2.1), let $u=\left(u_{i}\right)_{1 \leqslant i \leqslant N}, v=\left(v_{i}\right)_{1 \leqslant i \leqslant N}$ be two sequences in the domain $D(\mathcal{B})$ of $\mathcal{B}$ and let $\varphi_{i}=a_{i-1}\left(u_{i}-u_{i-1}\right), \psi_{i}=a_{i-1}\left(v_{i}-v_{i-1}\right), 1 \leqslant i \leqslant N$. In view of (1.2), (1.3) and (2.3), we can write

$$
\begin{aligned}
\langle\mathcal{B}(u)- & \mathcal{B}(v), u-v\rangle=-\sum_{i=1}^{N}\left(\varphi_{i+1}-\varphi_{i}-\psi_{i+1}+\psi_{i}, u_{i}-v_{i}\right) \\
= & \sum_{i=1}^{N} a_{i}\left\|u_{i+1}-u_{i}-v_{i+1}+v_{i}\right\|^{2}-\sum_{i=1}^{N}\left(\varphi_{i}-\psi_{i}, u_{i+1}-u_{i}-v_{i+1}+v_{i}\right) \\
& \quad-\sum_{i=1}^{N}\left(\varphi_{i+1}-\varphi_{i}-\psi_{i+1}+\psi_{i}, u_{i+1}-v_{i+1}\right) \\
= & \sum_{i=1}^{N} a_{i}\left\|u_{i+1}-u_{i}-v_{i+1}+v_{i}\right\|^{2} \\
& +\sum_{i=1}^{N}\left[\left(\varphi_{i}-\psi_{i}, u_{i}-v_{i}\right)-\left(\varphi_{i+1}-\psi_{i+1}, u_{i+1}-v_{i+1}\right)\right] \\
= & \sum_{i=1}^{N} a_{i}\left\|u_{i+1}-u_{i}-v_{i+1}+v_{i}\right\|^{2}+\left(u_{1}-u_{0}-v_{1}+v_{0}, u_{1}-v_{1}\right) \\
& -a_{N}\left(u_{N+1}-u_{N}-v_{N+1}+v_{N}, u_{N+1}-v_{N+1}\right) .
\end{aligned}
$$

Since $u, v \in D(\mathcal{B})$, one obtains

$$
\langle\mathcal{B}(u)-\mathcal{B}(v), u-v\rangle=\sum_{i=1}^{N} a_{i}\left\|u_{i+1}-u_{i}-v_{i+1}+v_{i}\right\|^{2}+\left\|u_{1}-u_{0}-v_{1}+v_{0}\right\|^{2} \geqslant 0
$$

Thus $\mathcal{B}$ is monotone in $H^{N}$ with the scalar product (2.1).
We now prove that $\mathcal{B}$ is maximal monotone, i.e. $R(\mathcal{B}+I)=H$ (see Minty's Theorem 1.4.13, [8]). Therefore, for every sequence $\left(h_{i}\right)_{1 \leqslant i \leqslant N} \in H^{N}$, we are looking for $u=\left(u_{i}\right)_{1 \leqslant i \leqslant N} \in H^{N}$ such that

$$
\begin{align*}
& u_{i+1}-\left(2+\theta_{i}\right) u_{i}+\theta_{i} u_{i-1}=h_{i}, 1 \leqslant i \leqslant N,  \tag{2.6}\\
& u_{0}=-u_{N+1}, u_{1}-u_{0}=-a_{N}\left(u_{N+1}-u_{N}\right) .
\end{align*}
$$

We search the solution of (2.6) in the form

$$
\begin{equation*}
u_{i}=v_{i}+l_{i} x+m_{i} y, \quad 1 \leqslant i \leqslant N, \tag{2.7}
\end{equation*}
$$

where $x, y \in H$ and $l_{i}, m_{i}, v_{i}$ are solutions of the boundary value problems (2.4), (2.5) and

$$
\begin{align*}
v_{i+1}-\left(2+\theta_{i}\right) v_{i}+\theta_{i} v_{i-1} & =h_{i}, \quad 1 \leqslant i \leqslant N  \tag{2.8}\\
v_{0}=0, \quad v_{1} & =0
\end{align*}
$$

respectively. The sequence $u_{i}$ in (2.7) verifies the equation from (2.6) for all $x, y \in H$. The boundary conditions from (2.6) become

$$
\begin{gathered}
\left(l_{0}+l_{N+1}\right) x+\left(m_{0}+m_{N+1}\right) y=-v_{N+1} \\
{\left[l_{1}-l_{0}+a_{N}\left(l_{N+1}-l_{N}\right)\right] x+\left[m_{1}-m_{0}+a_{N}\left(m_{N+1}-m_{N}\right)\right] y=-a_{N}\left(v_{N+1}-v_{N}\right)}
\end{gathered}
$$

Lemmas 2.1 and 2.2, together with the boundary conditions from (2.4), (2.5), guarantee the existence and uniqueness of $x, y \in H$ :

$$
x=\frac{-a_{N}\left(v_{N+1}-v_{N}\right)}{l_{1}-l_{0}+a_{N}\left(l_{N+1}-l_{N}\right)}, \quad y=\frac{-v_{N+1}}{m_{0}+m_{N+1}} .
$$

Hence $\mathcal{B}$ is maximal monotone with respect to the scalar product (2.1).

## 3. The main result

In this section we establish the existence of a solution to the boundary value problem (1.1). The main ingredient of the proof is Proposition 2.3.

Theorem 3.1. Assume that $A: D(A) \subseteq H \rightarrow H$ is maximal monotone in $H$, $0 \in D(A), \theta_{i}, c_{i}>0, f_{i} \in H, 1 \leqslant i \leqslant N, a_{N}=1 / \theta_{1} \theta_{2} \ldots \theta_{N}$. Then the boundary value problem (1.1) has a unique solution $u=\left(u_{i}\right)_{1 \leqslant i \leqslant N} \in D(A)^{N}$.

Proof. Denote by $A_{\lambda}=\left(I-(I+\lambda A)^{-1}\right) / \lambda$ and $\mathcal{A}_{\lambda}=\left(I-(I+\lambda \mathcal{A})^{-1}\right) / \lambda$ the Yosida approximations of the operators $A$ and $\mathcal{A}$, respectively. Recall that $\mathcal{A}$ defined through (1.4) is maximal monotone in $H^{N}$. Since $\mathcal{A}_{\lambda}$ is also maximal monotone and everywhere defined and $\mathcal{B}$ is maximal monotone with respect to the scalar product (2.1), the $\operatorname{sum} \mathcal{A}_{\lambda}+\mathcal{B}$ is maximal monotone. Consequently, the operator $\mathcal{A}_{\lambda}+\mathcal{B}+\omega I$ is surjective for every $\omega>0$, i.e. for any sequence $f=\left(f_{i}\right)_{1 \leqslant i \leqslant N} \in H^{N}$, the problem

$$
\begin{gather*}
u_{i+1}^{\lambda \omega}-\left(1+\theta_{i}\right) u_{i}^{\lambda \omega}+\theta_{i} u_{i-1}^{\lambda \omega}=c_{i} A_{\lambda} u_{i}^{\lambda \omega}+\omega u_{i}^{\lambda \omega}+f_{i}, \quad 1 \leqslant i \leqslant N,  \tag{3.1}\\
u_{0}^{\lambda \omega}=-u_{N+1}^{\lambda \omega}, u_{1}^{\lambda \omega}-u_{0}^{\lambda \omega}=-a_{N}\left(u_{N+1}^{\lambda \omega}-u_{N}^{\lambda \omega}\right)
\end{gather*}
$$

has a unique solution $u^{\lambda \omega}=\left(u_{i}^{\lambda \omega}\right)_{1 \leqslant i \leqslant N} \in H^{N}$.

Step 1. We first prove the boundedness with respect to $\lambda$ and $\omega$ of the sequence $u_{i}^{\lambda \omega}$. Without loss of generality, we suppose that $0 \in A 0$. Otherwise, we replace $A$ by $\tilde{A}=A-A^{0} 0$ and $f_{i}$ by $\tilde{f}_{i}=f_{i}+c_{i} A^{0} 0$, where $A^{0} x$ is the element of the minimum norm of the set $A x$.

One multiplies (3.1) by $a_{i} u_{i}^{\lambda \omega}$ and sums up from $i=1$ to $i=N$. Using (2.3) and the monotonicity of $A_{\lambda}$, we get

$$
\begin{aligned}
\omega \sum_{i=1}^{N} a_{i}\left\|u_{i}^{\lambda \omega}\right\|^{2} \leqslant & \sum_{i=1}^{N}\left[a_{i}\left(u_{i+1}^{\lambda \omega}-u_{i}^{\lambda \omega}, u_{i}^{\lambda \omega}\right)-a_{i-1}\left(u_{i}^{\lambda \omega}-u_{i-1}^{\lambda \omega}, u_{i-1}^{\lambda \omega}\right)\right] \\
& -\sum_{i=1}^{N} a_{i-1}\left\|u_{i}^{\lambda \omega}-u_{i-1}^{\lambda \omega}\right\|^{2}-\sum_{i=1}^{N} a_{i}\left(f_{i}, u_{i}^{\lambda \omega}\right)
\end{aligned}
$$

This implies that

$$
\begin{aligned}
\omega \sum_{i=1}^{N} a_{i}\left\|u_{i}^{\lambda \omega}\right\|^{2}+a_{N} \| & u_{N+1}^{\lambda \omega}-u_{N}^{\lambda \omega}\left\|^{2}+\sum_{i=1}^{N} a_{i-1}\right\| u_{i}^{\lambda \omega}-u_{i-1}^{\lambda \omega} \|^{2} \\
& \leqslant\left(\sum_{i=1}^{N} a_{i}\left\|f_{i}\right\|^{2}\right)^{1 / 2}\left(\sum_{i=1}^{N} a_{i}\left\|u_{i}^{\lambda \omega}\right\|^{2}\right)^{1 / 2}
\end{aligned}
$$

Hence we have obtained that

$$
\begin{equation*}
\sum_{i=1}^{N} a_{i}\left\|u_{i}^{\lambda \omega}\right\|^{2} \leqslant K_{1}, \sum_{i=1}^{N} a_{i-1}\left\|u_{i}^{\lambda \omega}-u_{i-1}^{\lambda \omega}\right\|^{2} \leqslant K_{2}, \quad\left\|u_{N+1}^{\lambda \omega}-u_{N}^{\lambda \omega}\right\| \leqslant K_{3} \tag{3.2}
\end{equation*}
$$

where $K_{1}, K_{2}, K_{3}$ and all $K_{j}$ below are positive constants. By (3.1) we find also that

$$
\begin{equation*}
\left\|A_{\lambda} u_{i}^{\lambda \omega}\right\| \leqslant K_{4}, \quad 1 \leqslant i \leqslant N \tag{3.3}
\end{equation*}
$$

Step 2. We now show that $u^{\lambda \omega}$ is strongly convergent in $H^{N}$ as $\lambda \searrow 0$, for every fixed $\omega$. To do this, we subtract (3.1) for $\lambda$ and for $\mu$ and multiply this difference by $a_{i}\left(u_{i}^{\lambda \omega}-u_{i}^{\mu \omega}\right)$. Summing up from $i=1$ to $i=N$ and employing (2.3), we derive that

$$
\begin{aligned}
\omega \sum_{i=1}^{N} a_{i}\left\|u_{i}^{\lambda \omega}-u_{i}^{\mu \omega}\right\|^{2} & +\sum_{i=1}^{N} a_{i-1}\left\|u_{i}^{\lambda \omega}-u_{i}^{\mu \omega}-u_{i-1}^{\lambda \omega}+u_{i-1}^{\mu \omega}\right\|^{2} \\
\leqslant & a_{N}\left(u_{N+1}^{\lambda \omega}-u_{N+1}^{\mu \omega}-u_{N}^{\lambda \omega}+u_{N}^{\mu \omega}, u_{N}^{\lambda \omega}-u_{N}^{\mu \omega}\right) \\
& -\left(u_{1}^{\lambda \omega}-u_{1}^{\mu \omega}-u_{0}^{\lambda \omega}+u_{0}^{\mu \omega}, u_{0}^{\lambda \omega}-u_{0}^{\mu \omega}\right) \\
& +\sum_{i=1}^{N} a_{i} c_{i}\left(A_{\lambda} u_{i}^{\lambda \omega}-A_{\mu} u_{i}^{\mu \omega}, J_{\lambda} u_{i}^{\lambda \omega}-J_{\mu} u_{i}^{\mu \omega}\right) \\
& +\sum_{i=1}^{N} a_{i} c_{i}\left(A_{\lambda} u_{i}^{\lambda \omega}-A_{\mu} u_{i}^{\mu \omega}, \lambda A_{\lambda} u_{i}^{\lambda \omega}-\mu A_{\mu} u_{i}^{\mu \omega}\right)
\end{aligned}
$$

Since $A$ is monotone and $A_{\lambda} x \in A\left(J_{\lambda} x\right)$, we have via (3.3)

$$
\begin{aligned}
\omega \sum_{i=1}^{N} a_{i}\left\|u_{i}^{\lambda \omega}-u_{i}^{\mu \omega}\right\|^{2} & +\sum_{i=1}^{N} a_{i-1}\left\|u_{i}^{\lambda \omega}-u_{i}^{\mu \omega}-u_{i-1}^{\lambda \omega}+u_{i-1}^{\mu \omega}\right\|^{2} \\
& +a_{N}\left\|u_{N+1}^{\lambda \omega}-u_{N+1}^{\mu \omega}-u_{N}^{\lambda \omega}+u_{N}^{\mu \omega}\right\|^{2} \leqslant K_{5}(\lambda+\mu) .
\end{aligned}
$$

This estimate shows the strong convergence as $\lambda \searrow 0$ of the sequences $u_{i}^{\lambda \omega}$ and $u_{i}^{\lambda \omega}-u_{i-1}^{\lambda \omega}, 1 \leqslant i \leqslant N$. Let $u_{i}^{\lambda \omega} \rightarrow v_{i}^{\omega}$ as $\lambda \searrow 0$. Since $A_{\lambda} u_{i}^{\lambda \omega}$ is bounded with respect to $\lambda$ and $\omega$, it is weakly convergent on a subsequence, say $A_{\lambda} u_{i}^{\lambda \omega} \rightharpoonup w_{i}^{\omega}$ as $\lambda \searrow 0$ in $H$. Then $J_{\lambda} u_{i}^{\lambda \omega}=u_{i}^{\lambda \omega}-\lambda A_{\lambda} u_{i}^{\lambda \omega} \rightarrow v_{i}^{\omega}$ as $\lambda \searrow 0$. Passing to the limit as $\lambda \searrow 0$ in $A_{\lambda} u_{i}^{\lambda \omega} \in A\left(J_{\lambda} u_{i}^{\lambda \omega}\right)$ and in (3.1), one finds that $v_{i}^{\omega} \in D(A), w_{i}^{\omega} \in A v_{i}^{\omega}$ and

$$
\begin{gather*}
v_{i+1}^{\omega}-\left(1+\theta_{i}\right) v_{i}^{\omega}+\theta_{i} v_{i-1}^{\omega} \in c_{i} A v_{i}^{\omega}+\omega v_{i}^{\omega}+f_{i}, \quad 1 \leqslant i \leqslant N,  \tag{3.4}\\
v_{0}^{\omega}=-v_{N+1}^{\omega}, \quad v_{1}^{\omega}-v_{0}^{\omega}=-a_{N}\left(v_{N+1}^{\omega}-v_{N}^{\omega}\right) .
\end{gather*}
$$

The solution of this problem is bounded because of (3.2):

$$
\begin{equation*}
\left\|v_{i}^{\omega}\right\| \leqslant K_{6}, 1 \leqslant i \leqslant N \tag{3.5}
\end{equation*}
$$

Step 3 . We prove that $v_{i}^{\omega}-v_{i-1}^{\omega}$ is strongly convergent as $\omega \rightarrow 0,1 \leqslant i \leqslant N+1$. To this end, by (3.4) for $\omega$ and $\gamma$ and by the monotonicity of $A$ we deduce that

$$
\begin{aligned}
a_{N}\left\|v_{N+1}^{\omega}-v_{N+1}^{\gamma}-v_{N}^{\omega}+v_{N}^{\gamma}\right\|^{2}+ & \sum_{i=1}^{N} a_{i-1}\left\|v_{i}^{\omega}-v_{i}^{\gamma}-v_{i-1}^{\omega}+v_{i-1}^{\gamma}\right\|^{2} \\
& \leqslant(\omega+\gamma) \sum_{i=1}^{N} a_{i} c_{i}\left(v_{i}^{\omega}, v_{i}^{\gamma}\right) \leqslant K_{7}(\omega+\gamma) .
\end{aligned}
$$

This shows the desired strong convergence. Writing (3.4) in the form

$$
v_{i+1}^{\omega}-v_{i}^{\omega}-\theta_{i}\left(v_{i}^{\omega}-v_{i-1}^{\omega}\right)-\omega v_{i}^{\omega}-f_{i} \in c_{i} A v_{i}^{\omega}, \quad 1 \leqslant i \leqslant N
$$

and employing the maximal monotonicity of $A$ together with the weak convergence of $v_{i}^{\omega}$ (say $\left.v_{i}^{\omega} \rightharpoonup u_{i}\right), 1 \leqslant i \leqslant N$, it follows that $u_{i} \in D(A)$ and $u=\left(u_{i}\right)_{1 \leqslant i \leqslant N}$ verifies the problem (1.1). The uniqueness can be easily obtained. This completes the proof.

An example. Denote by $\Omega \subset \mathbb{R}^{d}, d \geqslant 1$ a bounded domain with the boundary $\partial \Omega$ smooth enough. Let $\beta: D(\beta) \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a maximal monotone, densely defined operator in $\mathbb{R}$, and let $A$ be the operator $A u=-\Delta u$ with the domain $D(A)=\left\{u \in H^{2}(\Omega),-\partial u / \partial \eta \in \beta(u)\right.$ a.e. on $\left.\partial \Omega\right\}$, where $\partial / \partial \eta$ is the outward normal
derivative. It is known that this operator is maximal monotone in the Hilbert space $H=L^{2}(\Omega)$ (see for example [8]). As a consequence of Theorem 3.1, we can state the following existence result for the boundary value problem

$$
\begin{gathered}
u_{i+1}(x)-\left(1+\theta_{i}\right) u_{i}(x)+\theta_{i} u_{i-1}(x)=-c_{i} \Delta u_{i}(x)+f_{i}(x), \quad x \in \Omega, \quad 1 \leqslant i \leqslant N \\
-\partial u_{i}(x) / \partial \eta \in \beta\left(u_{i}(x)\right), \quad x \in \partial \Omega \\
u_{0}(x)=-u_{N+1}(x), \quad u_{1}(x)-u_{0}(x)=-a_{N}\left[u_{N+1}(x)-u_{N}(x)\right], \quad x \in \Omega .
\end{gathered}
$$

Proposition 3.2. Let $\beta: D(\beta) \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a maximal monotone densely defined operator on $\mathbb{R}$ such that $0 \in \beta(0), f_{i} \in H=L^{2}(\Omega), c_{i}, \theta_{i}>0,1 \leqslant i \leqslant N$. Then the above boundary value problem has a unique solution $u=\left(u_{i}\right)_{1 \leqslant i \leqslant N} \in D(A)^{N}$.

Acknowledgments. The work of the second author was supported by the CNCSIS project, ID 342/2008, Romania.

## References

[1] A. Aftabizadeh, N. Pavel: Nonlinear boundary value problems for some ordinary and partial differential equations associated with monotone operators. J. Math. Anal. Appl. 156 (1991), 535-557.
[2] A. Aftabizadeh, S. Aizicovici, N. Pavel: On a class of second order anti-periodic boundary value problems. J. Math. Anal. Appl. 171 (1992), 301-320.
[3] R. Agarwal, D. O'Regan, V. Lakshmikantham: Discrete second order inclusions. J. Difference Equ. Appl. 9 (2003), 879-885.
[4] S. Aizicovici, N. Pavel: Anti-periodic solutions to a class of nonlinear differential equations in Hilbert spaces. J. Funct. Anal. 99 (1991), 387-408.
[5] S. Aizicovici, S. Reich: Anti-periodic solutions to difference inclusions in Banach spaces. Dyn. Syst. Appl. 1 (1992), 121-130.
[6] G. Apreutesei, N. Apreutesei: Continuous dependence on data for bilocal difference equations. J. Difference Equ. Appl. 15 (2009), 511-527.
[7] N. Apreutesei: On a class of difference equations of monotone type. J. Math. Anal. Appl. 288 (2003), 833-851.
[8] N. Apreutesei: Nonlinear Second Order Evolution Equations of Monotone Type and Applications. Pushpa Publishing House, India, 2007.
[9] V. Barbu: A class of boundary problems for second order abstract differential equations. J. Fac. Sci. Univ. Tokyo, Sect. I A 19 (1972), 295-319.
[10] B. Djafari Rouhani, H. Khatibzadeh: Asymptotic behavior of bounded solutions to a class of second order nonhomogeneous evolution equations. Nonlinear Anal., Theory Methods Appl. 70 (2009), 4369-4376.
[11] P.Stehlik, C. C. Tisdell: On boundary value problems for second-order discrete inclusions. Bound. Value Probl. 2005 (2005), 153-164.

Authors' addresses: G. Apreutesei, Faculty of Mathematics, Univ. "Al. I. Cuza", 11, Bd. Carol I, 700506, Iaşi, Romania, e-mail: gapreutesei@yahoo.com; N. Apreutesei, Department of Mathematics, Technical Univ. "Gh. Asachi", 11, Bd. Carol I, 700506, Iaşi, Romania, e-mail: napreut@gmail.com.

